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QUESTION 1

How do you ensure that specific Validation, Editing, and Estimation (VEE) rules are applied to estimated
measurements? 

A. by adding the VEE Group to the Device Configuration Type 

B. by adding the estimation rules to the Manual Override VEE Group to the Measuring Component Type 

C. by adding the VEE Group to the Device Type 

D. by adding the VEE Group as the Fallback VEE Group for the appropriate VEE role 

Correct Answer: B 

 

QUESTION 2

As part of the service order processing, the algorithm D1-CNSPINSDV (Connect SP and/or Install Device) determines if
a specific activity needs to be created based on the state of the service point. 

Based on the status of the service point, what can this algorithm create? 

A. Device 

B. Device Configuration 

C. Smart Meter Command 

D. Service Point 

Correct Answer: D 

Reference: https://docs.oracle.com/cd/E63094_01/PDF/SGG_SOM_Configuration_Guide_v2_1_0_3.pdf (18) 

 

QUESTION 3

How many service agreements are linked to a severance process? 

A. all service agreements that are connected to the initiating overdue process 

B. one 

C. any number defined by the business user 

D. zero - accounts are linked to severance processes 

E. all service agreements that are connected to the initiating collection process 

Correct Answer: C 
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QUESTION 4

What can cause a bill segment to have multiple bill calculation headers? 

A. multiple Rate Version Calculation Group 

B. multiple Scheduled Read Dates covered by the bill period 

C. proration at Bill Factor level 

D. multiple service agreements being covered by a bill segment 

E. proration at Calculation Rules level 

Correct Answer: C 

 

QUESTION 5

Critical validation rules verify the integrity of the initial measurement data (IMD). If an implementation needs to add new
critical validations, where would you configure them? 

A. as new lifecycle algorithms on the IMD Seeder BO (D1-IMDSeeder) 

B. in the pre-processing algorithm of the IMD Seeder BO (Dl-IMDSeeder) 

C. as options on the IMD Seeder BO (D1-IMDSeeder) 

D. in the schema of the IMD Seeder BO (D1-IMDSeeder) 

E. in the validation algorithm on the IMD Seeder BO (D1-IMDSeeder) 

Correct Answer: B 

1Z0-996-22 VCE Dumps 1Z0-996-22 Practice Test 1Z0-996-22 Braindumps

Powered by TCPDF (www.tcpdf.org)

1Z0-996-22 VCE Dumps | 1Z0-996-22 Practice Test | 1Z0-996-22 Braindumps                                3 / 3

https://www.geekcert.com/1z0-996-22.html
https://www.geekcert.com/1z0-996-22.html
https://www.geekcert.com/1z0-996-22.html
http://www.tcpdf.org
https://www.geekcert.com/1z0-996-22.html
https://www.geekcert.com/1z0-996-22.html
https://www.geekcert.com/1z0-996-22.html

